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GEOGRAPHY efolinn
PAPER - II Yu:-II1
Note :This paper contains Seventy five (75) multiple-choice/assertion/reasoning/
matching questions. Each question carry TWO (2) marks. Attempt All
the questions. '
Alg B ueuel dAldR (o) ogRselly uadl, W wA ASsi vi-ladi wadl
O, MM Uil el dvar 8. Uds e 8 () m B,

1. Which one of the following is j  flaqaidl gerdl 20 Geuent sl

the leading producer of natural ~ -
Yoy Mea sl 87

rubber ?

(A) su{da
(A) Brazil

(B) S-sialu
(B) Indonesia

(C) Malaysia (C) walai
(D) Thailand D) wuSA-s

2. The tallest trees in the world are 2. [qaq- Ael Glai Cl’"ﬁ A2l AaL 14

found in the : & :

(A) Equatorial region (A) [Ayagdly uea

(B) Monsoon region (B) Hiul n2u

(C) Mediterranean region (C) oy Mz

(D) Temperate rain forest D) unlldida sdloiefly anl %oiel
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Smaller farm  size, high
productivity, low per capita output

are the characteristic features of :
(A) Intensive method of agriculture
(B) Extensive farming

(C) Monoculture plantation

farming
(D) Dry farming

The maximum loss of forest lands

in India is caused by :

(A) River valley projects
(B) Industries

(C) Means of transportation
(D) Agriculture

Which type of natural hazards cause
maximum damage to property and

life ?

(A) Hydrological

(B) Hydro-meteorological
(C) Geological

| (D) Geochemical

Geography-I11

Airl sel WMARL, 49 Gouesdl,HAElS

g Gulee B L UBUAL A8l &
(A) A Wl wgli

(B) [Aqd wdl

(€) s wil oponudt vidl

(D) Y4l widl

oLl da-uoyMd dldl agy s

ysiud 8 :

(A) el Yl
(B) Geldll

(C) ulRagndi WAl
(D) widl

sul geadl wsivd ld Bresa ad

yrigada Al 4y &l wsid 87
(A) Hydrological

(B) Hydro-meteorological

(C) Geological

(D) Geochemical



'The borewells and canals can be dug
easily in which of the following

terrain ?

(A) Soft alluvium of the Northern

Plains

(B) Rolling and dotted hilly terrain

of North East

(C) Terrain where confined aquifer

is below the normal water table

(D) Gneiss, granite and basaltic

terrain of Peninsular India

Richthofer’s method may be
categorised in modern terminology

as :

(A) Ideographic

(B) Chorographic
(C) Chorological

(D) Nomothetic

Geography-III
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gl sqt e siaui widagal
(borewells) dut &2l udaSdl wigl

sty 87

(A) Griani AsieAl- 44 siv8AlL

(B) Gr—yd-l wssia oyfdu |

(C) ofdid ¥ sl Il 2uadl
Ml (aquifer) Ynadi &=l

D) duselld eudni usy, Aruse i
cUIcY S WSs AR

deuiddl wglad 1A sudd sugyls

wReuls woeul asllsa 530 usy -
(A) 2uSSluiuEs (Ideographic)
(B) 9Rdild (Chorographic)

(C) siridl®sa (Chorological)

(D) Alidl2s (Nomothetic)
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8. What was the basic objective of First 8. ¢lielr{l Matiuan(ly diou-l yoejd &g

Five Year Plan of India ? sS4l wdl?
(A) Agricultural Development (A) d (s
(B) Industrial Development (B) el Qs
(C) Transportation Network (C) wfRas« Mot [Qs
(D) Employment Availability D) ran] Ml
9. Multi-level planning means : 9.  ogadld Yt Hed ;-

(A) High level planning (A) G 2y, il

(B} Infrastructural planning
(B) Hlvdld YA, vnuigt

(C) Low level planning

(C) [t ddlu 2uiown
(D) Panchayat to National level

planning @) daaadl ndls 2R Yl 2o

10. Who conceptualised “Growth Pole  10. ‘sla dia Rz’ 59 ad uux @l

Theory” ? sdl?

(A) D Seers (A) &l flud
(B) Isard (B) Swe
(C) Perrous (C) ARlsy
(D) Carl March D) s1d s

Geography-III 6



11.

12.

Which one of the following is not

associated with tornadoes ?
(A) Cold front squall line
(B) Cumulonimlus clouds
{C) High vertical extension

(D} Wind speed accelerates

ocutward

The ..ooovvevierrnen. was started in
1977-78 with the aim of the
controlling desertification, restoring
ecological balance and creating
conditions to improve the economic

level of people in desert areas :

(A) Desert Peoples Programme

(DPP)

(B) Desert Development Programme
(DDP)

(C) Desert Welfare Programme

(DWP)

(D) Degert Samadhaan Programme
(DSP)

Geography-I1I1

11.

12,

Al g eldst AR Asudg «fl?
(A) dd atd-l Wdid 3wy
(B) e3l—ani aien

(Cy Ged [aar@ (High vertical

extension)

D) o1l %dl wadidl qaadl AR

W Ayaa, wiRalas .%{q,c-m-i
YRR A 3 A{ld i 20 s
el QAL A9al W2 1¢09-9¢ Mi

......... Al a3aud samii sudl edl.
(A) 33 luex ¥iud (Q.0.4.)
(B) 3»¢ Tadiud-2 Misun (41.91.40.)

(C) 13 dadz (yeustdl) wisuH

(8).s01ey.L.)

M) 313 2w Wsuy (€u )
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13.

14.

Eco-development refers to :

(A) Environmental pollution

{B) Economic deve]opfnent

(C) Balance between biotic and

abiotic components

(D) Physical and cultural elements

According to G. Mydral “Back

Wash” refers to :

(A) Supply of labour and capital to

central

(B) Harbour development

(C) Sea waves and trade

(D) Transportation network

Geography-I11
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wiRRal Qs 2ed :

(A) walaelly demat

(B) »ulls {Qsmu

() *Rs arr =AFAs w28 1A Agart

(D) wsls A Aivglds deal

o MISSH-L Md ‘6ls digl’ (Back Wash)

"l vy :

(A) Irsin MR dal yeld Rd@

(B) ol [RAs@

(C) s oA el 2R

(D) wRas =y



15. Choose the correct pair of polluted

area with the type of industry :

Polluted Area

(1) Tarapur

@ Jodhpur

{3) Manali

{4} Korba

Codes :

(1)

A @

By ©

€y (&

D (a)

Geography—III

Types of Industry

(@)

(%)

(c)

(d)

(2)

(b)

(d)

(c)

(d)

Power plants,
Aluminium industry,
mining

Cotton Textiles, Dye

0il refineries,

chemical industry,

fertilizer industry
Chemical industries
3) @
) (a)
@ (b
®) (@)
) &

15.

oy

2)

(3)

4)

Adrumiofl ug@d &st 207 Geliolu ¥s12

-,

i3] Il As WAl :

A

dl1YR (@)
RaY R ®)
el {c)
104 (d)
S

(1) (2)
(A) (@) (&)
(B) (o) (d)
(C) () (c)
D) {a) (d)

Galdl sz

God 2igal,

vy [y
Gella, Bevirt
HARLG s1uS,
ENETK

vl da a7,
ALY Getia,
ALU[Rs vildR
Bellay

@ Geliay

3 (4)

© (@

(@ &)

& (@)

) &)
[P.T.O.]



16.

17.

18.

The rural and urban categories are 16.

defined based on :

(A) Primarily economic activity
(B) Population density

(C) On the basis of amenities

(D) All of the above factors

Rodonis a .....ccoovevvnvinnennn 17.

(A) Radioactive gas

(B) Metallic element

(C) Liquid substance

(D) Solidification of Carbon

The specific place of an organism in 18.

an ecosystem is called as :
(A) Niche

(B) Autotroph

(C) Trophic level

(D) Food pyramid

Geography-I11 10

204 2 wa Tl el vl s da

158l iy 97

(A) Mmalis 2uls uglaxi
(B) axla-dl ofadq

(C) MW AASIA U

(D) Guzisa oal wWismi

(A) BUARa ay
(B) allds da
(C) nadl ueid
(D) siel4d a-lse

¥a dedirl WIARAERS doiul 28al 20

4 58 87

(A) {ldl (Niche)
(B) @Bcwes
(C) Gof 2

D) w~ s



19.

20.

21.

Centripetal forces indicate : 19.

(A) Polarisation
(B) Decentralisation
(C) Peripheral development

(D) Sectoral development

Forward linkages facilitates : 20.

(A) Diversification
(B) Unbalanced development
(C) Excessive pressure on resources

(D) Social development

Which one of the following types of  21.

erosion is responsible for the

formulation of Chambal Ravines :
(A) Splash

(B) Sheet

(C) Rill

(D) Gully

Geography-111 11

g Al s yud o

(A) gdls@

(B) [Qklsiwl

(C) i (s

(D) [asually [Qs

§30H gt uaasl

(A) [Qewllsra

(B) iglad ([asiu

(C) dual Gur »Rsay oz
(D) aoul¥s Qs

gojal aglvlla siaidl - 2
QAAMiedl s8L WS BARA SLREUHYA

87

(A) A (Splash)
{B) uS (Sheet)
(Cy {la (Rill)

(D) $id2 (Gully)
[P.T.O.]



22,

23.

24,

Hierarchy order of development

always refers to :
(A) descending order
(B) ascending order
(C) equal order

(D) unequal order

Which is the indicator used for

delimitation of cultural region ?
(A) religion

(B) caste

(C) social customs

(D) folk songs and dance

Porbandar, Ratnagiri, Thiruvanantha-
puram and Vishakhapatnam are

important centres of ..................... in
India.

(A) ship building

(B) fishing

(C) port

(D) off-shore oil mining

Geography-II1
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22.

23.

24.

sl 8ol 3ud & -
(A) Gddl 4

(B) adl #4

(C) w53

(D) 2AYNIA 4

il weurll AlMisA e auud Yus
sy 97

A) i

(B) ald

(C) wulxs R

D) disalldl ¥

Yiroie, wcuA, yu-dayx du

([Qauvitueds szl A3+

Sl 8.
(A) Us1% SUUSIH
(B) H qauy

(C) oiex

(D) g2 ddld de—Gewrin



25.

26.

27.

The largest and most dominating 95,

city in a state with respect to
commercial, industrial, educational

and political activities refers to :
(A) City region
(B) Urban field
(C) Primate city

(D) Necropolis

Integrated Rural Development 2¢.

include :

(A) Basic need approach
(B) High level development
(C) Low level development
(D) Drinking water supply

The concept of conurbation was

propounded by :
(A) Dickinson
(B) Murphy
(C) Dahl

(D) Scott

Geography-III1 13

27.

s ey, fafs 74 AxLy
HalztutiA deolnl 2ead Al agy g

A [alus ad 124

(A) A Aoourt — ud &an

(B) 6+ 8 — wddl U

(C) wsH2 9&2 (Primate city)
D) Asiuilay (Necropolis)

YARA weu [Rn »eq

(A) yueid #3lRuldl 2+l (e
(B) G wlu [s

(C) [ty Qs

D) Az gzqa‘t'

402 [Qazel Qeuda-t s 2l edll?
(A) (88l

(B) a8l

(C) Usd (Pahl)

D) i

[P.T.O.]



28.

29.

30.

Tribal  Area Development

Programmes are applicable to those
areas where the concentration of

tribal population is :
(A) < 25%

(B) < 50%

(C) > 60%

(D) Between 25%-50%

Which of the following is not an

agro-climatic region of India ?
(A) East coast plain and hills
(B) The eastern plateau and hills
(C) The western ghats

(D) The trans ganga plains

The increasing level of interdepen-
dence over vast distances in
economic dimension, technological
connectivity and political ties is

known as :

(A) Polarisation

(B) Industrialisation
(C) Liberalisation

(D) Globalisation

Geography-III
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28.

29.

30.

szl & [Asi sidsml ol Neyml

ct2) ud © ol 2ufBen] uon-l arfa i :
(A) < 25%
(B) < 50%
(C) > 50%

(D) 25% 211 50% <l Q2A

Aduniefl syl wty  olrddl
Gd—letlecly & 1?

(A) yd Buug Aeit 2t gL

(B) yd-i G uza w4 gaRlL

(C) uly we

(D) Sbug [RAwa Aeit

wtlls wRwE, ds4l visyaidl dul
UFSLY Aseibr GUAL BAds R

A s AR 2iqvuy 7
(A) pdlsa

(B) leifls@
(C) Gellsa

M) alRaflsa



31. Which one of the following is not

correctly matched ?

(A) Rank Size Rule : Zipff

(B) C.B.D. : C.C. Colby
(C) Primate city : C.O. Sauser
(D) Mega city : P. Geddes

32. City size distribution is best

depicted by :

(A) Urban hierarchy

(B) Central place theory
(C) Rank size rule

(D) Losch’s hexagonal model

33. Region delineated on the basis of

relationship are called :
(A) Natural region

(B) Nodal region

(C) Planning region

(D) Developing region

Geography-1I1
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(A) #Mst Rgla

(B) Hl.oll.gl.

(G TECERE

(D). ®au Alél

o ofl@umill 5§ s Wl qfl?

: Als (Zipfh
H{LAL sicoll
| A EENES

-], A8

s 56 [Adawt S dd aud ©

(A) &3 sAsdl

(B) Hmy WA Rigid (Central place

theory)

(C) s¥se [[fgld (Rank

size rule)

(D) diur (Losch’s) Nesielly Hisa

.ol sy MilEa ¢

§

(A) geadl ugal

(B) 3w (Nodal) Meal
(C) iyt ueell

(D) Rsdla uza

3 utdid se

[P.T.O.]



34.

35.

State in which of the following
regions tank irrigation would be

absent :

(A) Low rainfall areas of Gujarat

and Rajasthan

(B) Rugged but high rainfall

regions of North-East India
(C) Eastern Coastal Plain
(D) Central Deccan Plateau

The gorges of Indus, Sutlej and

Alkananda indicate :

(A) Rivers are older than the

mountains

(B) Rivers are flowing throdgh soft

bed rock

(C) Increase in height of Tibetan

Plateau

(D) Flowing of rivers originating

due to earth’s movements

Geography-II1
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34.

35.

Aol s M 1 ia R asd

217

(A) oAU dul UwALAAL Py

QAALEAUNL MU

(B) Gur—yd oiad+dl g(H w1 ag

QRAUEUOL B
(C) yd B AelHl

M) evu@-l GRA URAAL HB 6191

RY, Adaw dul sas-eidl siai yad

9
(A) uddl sdi tdlall ag aadl &
(B) €l A4 wSsuHidl a8

(C) [aadlu G weetl GlausSai asuzl

ay, &

(D) ojsaa-ll Al i Geetadl €l

MALSl FAUBIELR 89



36. Meghalaya State is known for

37.

38.

which of the following tribal

combination ?

{A) Khasi—Mizo
(B) Garo—Khasi
{C) Naga—Mizo
(D) Khasi—Naga

Relative shift of mean central of
population distribution on any
region over a period of time can be

examined applying :
(A) Nearest Neighbour Analysis
(B) Harmonic mean
(C} Mean deviation from mean
(D) Weighted Arithmetic mean

On the map the first meridian

longitude was shown by :
(A} Eratosthenes

(B) Hecatus

(C) Herodotus

(D) Ptolemy

Geography-III
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86. Muiay 1%y QA-unioll sun wRiaege

37.

38.

Ay €57

(A) Rl
(B) oui—wil
(C) ~uwsu—dlxl

(D) wdl—i2u

516 M2 51 Araous v 2 Bt arla
[Acd 2ol Heus-l aielis vidas qwell

WL :
(A) Nu3ze Aoz AR-ulady
(B) gIHIFs 8Ss (mean)

(C) =45 [quet (Mean deviation

from mean)

(D) ades A[Ruil2s Hl+ (Weighted

Arithmetic mean)

sl udnan Iviniv sulauz
(A) fR2iaMy

(B) &3z

(C) RSl

(M 2idl

[P.T.O.]



39.

40.

1000 mm ischyet is the boundary
between which two regions of India
which divides the country into

roughly two equal parts :

Prime Meridian for Indian

Standard Time

(A)

(B) Wet evergreen forests and dry

deciduous

(C) Wheat and rice growing

Region

(D) Clayey and sandy soil regions

Read the following sentences and
state which of them are true ?
(z) Hot springs are generally
associated with the area of
volcanic activity.

(it) The water coming out from hot
spring contains a number of
dissolved minerals.

(Zie) In India hot springs are found
in the areas of igneous and

metamorphic rocks.
(A) (@) and (iz)
(B)
(C)

(M

(i) and (i1i)
(¢) and (ziz)

(&), (a1), (&id)

Geography-III
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1000 H{lMl uxanl Ivi el sue 6
weai-l AL € wA A Budl @nMdL o

Az GOl 53 697

(A) ctzdla W wxudl yeu vy

vy

(B) s Fleudlal 221l 24 9468 Wt s

(C) 4B A SOL2 Gowles MBI

(D) WAl #d da wBal

Al asul aidl A Al Wy wsy
s & d oseual
ey welldl »rL

@ wMLuld

ageuenpdlu Mg lr uE Asudan sii
&
(1) 2z el il 1adr welbd

YR &1L AL Sld B

(i) eilRdMl »edY s+t 3uidlia
WEsEH ML 12 H vellal » L 2udat

-

135
(A) () @ (i)
(B) (i) i1 (i)
(C) (@) 2 (i)

(D @), (D), ()



41,

42.

North, South, East, West are the
four main directions. They are

known as :

(A} Geographical Poles
(B} Coordinates

(C) Cardinal Points
(I} Zero Direction
Statement 1 :

Fog is microscopically small water

drops suspended in the atmosphere.
Statement 11 :

They are associated with inversion

of temperature.

(A) Both statements I and II are
true and statement II is an

explanation to I

(B) Both statements I and II are
true and statement I is not an

explanation to I

(C) Statement I is true and

statement II is false

(D) Statement II is true and

statement 1 is false

Geography-II1I
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G2, els, yd dan uBas N a2 ey
Rl & aua 21 6 siwaii 28
9

(A) oilatifas Gz

(B) sim{i[Snen (Coordinates)

(C) Buyas fBbig

(D) 3y [2w (Zero Direction)

ELTE g

M B Aldlal 2dai wR Y

(MuSsizsilus) wasel 5.
[aai-t 11 :
o Al Bed Qe il Asandal o

(A) (A8 T a7t IT i © A R

IT nax Q] i 20l 6.

(B) At T >+ IT 1l 8 uey [y

1T Mee {Aeu--l a9 2uug, el

(C) (At T 3 & i Rsuqt 11 wiig
0

(D) (Aaurt 1 g 8 21 Rain T wiyg
2
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43.

44.

Which one of the following has the

largest coral formation ?
(A) North Pacific

(B) South Pacific

{C) South Atlantic

(D) North Atlantic

Put the Intervention strategy of
Population Policy of India in
chronological order from beginning

to date :

(i) Intensification of family

planning efforts
(i) Clinic Approach

(iif) Integration with Minimum

Needs Programme

(;v) Return of Voluntary Birth
Control

(v) Extension Approach
(A) (D), D), (v), (D), (iv)
(B) (iid), (v), (1), (&), (iv)
(C) (), (D), Gv), (1), (V)

(D) (1), (), (), Gu), ()

Geography-I1II
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43.

44.

Aaretidl sul Bedz waos{l el ag

2Unl 419 87

(A) Bmz Walss
(B) el WRAlEs
(C) el »edlRs

(D) Gu vedles
ozl awft AR 2gss sBsirt

agoiad]l v ydle saMl silsal

@) uZaz Fedomn nactidl Aqd-dl

(i) ranadl wHam

Gid) =qtdd Falzaial  sidsug
UYL E 8L

(iv) *Ws9s o= [RdARLY YrAR12MA

() Ay Asm
(A) (i), (i), (v), (), (iv)
(B) (i), (v), (D), Go), ()
(1), (zi), (v), (i), (V)

(D) @), ), @), Gv), (D)



45. Which one of the following is not  45.

a dynamic soil forming factor ?

(A) Climate

(B) Patent material

(C) Relief

(D) Time

46, According to the climatogenic soil  46.

classification the colour of the soil

in Hot Dry climate would be :

(A) Red

(B) Black

(C) Yellow

{D) Brown
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Aol ol gl wEni sy

Yo opces )7

(A) iolieat

(B) 3 vewl

(C) oy

(D} ¥y

o~ 2uotieaiadl aollszel wus, Gwl

wirl s wiotearafl -l 331 syl

Sl 19?

(A) 2l

(B) sl

(C) lui

(D) ozl
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47. Industrial Revolution brought in

some changes in the concept of

production process. State which

of the following changes wecre

brought :

(@)

(12}

(i)

(A)
(B)
(C)

(D)

Crude means of production
were replaced by more finer
ways.

Urban centres were developed

near agricultural markets

Spatial disparity; between the
countries regarding mineral
reserves enhanced social and
political tension between the

countries.
({) and (iD)
(i) and (i)
() and (iz7)

(¢), (i1} and (iiz)

Geography-I11
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Geqted-l WGaml Ay silagdl

ulZad- 2. fla-uniel sul ulzad-l

Sl A el

(£)

(i1)

(eet)

(A)

(B)

(C)

ol 32 Uglamtia 2 Adl 11l

yglaa zudl

Ud—-o2 2l A%y Aal wasdl Sl

[ sl

A2 daiaidl Bl s
dlé {alaa s a= wHlys w1

sl dlaml (dea) asuzl wul

(i) e (d0)

(77) -t (idd)

(i) w1 (iiD)

(1), (1) ¥ (i)



48. Sediments at the outer edge of
the continental shelf can be thick

upto :
(A) 8 km

(B) 10 km
(C) 12 km.
(D} 15 km

49. Which one of the cloud create more

problems for air planes ?
(A) Cirrus

(B) Cumulus

(C) Nimbus

(D) Stratus

50. Which of the following coasts of the

world are important marine fishing

grounds of the world ?

48.

49.

50.

(A) East and West-North Atlantic

(B) East and West-South Pacific
(C) East and West-South Atlantic

(I Indian Coasts
Geography-III
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WSl enoredlet olign G B3 AL Siy-]

Aste seddl &S uy 37
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(B) 10 (5.3,
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[niell 54 atem R i ay quw
Gy~ 83 7
(A) dg aisw
(BY 231 aen
(C) aul auen

(D) 4us qaien

Adaidll sul W sisl wylks W
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(A) B vedlRsAl yd aut wbBay

ERTEN

(B) eldet WRGBsL yd dar ulay

EXTE

(©) eltiar sedRevl yd du ylay

[3-tzL

(D) eLrdly AqoLzsist
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51.

53.

The highest density of water 1s

the temperature of :
(A) 6°C
{By 2°C
(C) 7°C
(D) 6°C

at

Which one of the following is not

the characteristics of the ocean

bodies ?

(A) Greater evaporation
(B) Mobility and mixing
(C) Lower specific heat

(D) Transparency

Rain Forests are located in :

(A) Low latitude high precipita-

tion zone

(B)

is seasonal

()

Monsoon region where rainfall

Regions where temperature

remains above 6°C at least for

6 months of the year

(D)

Regions which receive much of

its rainfall during winter,

summer months remains dry

and rainless

Geography-III
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H2.

syl Al o) dedn ay G4l ein o7

(A)

(B)

(C)

(D)

0°C

2°C

7°C

6°C

AAiell 55 caPsdr Wys [

41?7
(A)
(B)
()
(D}
]
(A)

(B)

(O)

(D)

afy oixylear

sifasflady mqd WEae

Yy [Alire dreis

W e sl
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£
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54. The normal position of Thermal

5.

Equator is normally at :
(A) 0°

(B) 5°N

(C) 5°S

(D) 10°N

Assertion (A) :

Jhelum in the Valley of Kashmir is
still in its youth stage and yet forms

meanders.
Reason (R) :

The meanders in River Jhelum are
caused by the local base level found

in the Valley of Kashmir.

(A) Both are true and ‘R’ is the

explanation to ‘A’

(B) Both are true and ‘R’ is not the

explanation to ‘A’
‘A’ is true and ‘R’ is false

(C)

‘A’ is false and ‘R’ is true

D)

Geography-III
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54. wda (ardd) QAyaga aeu-y {a sy

35.

GURLEE

(A) 0°

(B) 5°G

(C) 5%t

D) 10°G

[Qaii (A) :

st 2 vl Byl addl Jan <)
82 d-ll yarmauui A ddl d wulsi?
ad 9.

532 (R) :

sl vllgl [Qadial dax gl an

RS s s aulsR ad 8.

(A) ol R B A 5120 QU sl
W 9

(B) oA WL H 2 s1@ A Q- W2
Y el

(©) Qa1 WY & w5 wig 9

D) [ wig ¥ 2 Rud Wy 8
(P.T.O.}



56.

57.

(a)

)

()

@

Rainfall (mm)

The tidal force of the moon 1s most
powerful when the moon is nearest
to the earth at a distance of 3,56,000
km. The tides caused at this time

(B) Neap
(C) Perigean
(D) Apogean

Choose the correct answer of rainfall
zones of Gujarat :

Districts

> 1000 (1) Kachchh and Western
part of Sabarkantha

800-1000 (2) Vadodara, Panchmahals,
Kheda and Part of
Ahmedabad

400-800 (3) Whole of Saurashtra
and Much of Gujarat
North of Ahmedabad

< 400 (4) Valsad, Dangs, Surat,
and Eastern part of
Bharuch including
Rajpipla Hills

Codes

| @ ® © @

A 2 @ @O @

@ 3 @& @

€ @ & @

D @ @O @ @
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56.

57.

(o)

b)

()

(d)

guld Ag yedlldl Wl 25 3,56,000
.l 2id ¢lu 8 au ddg 93 o
Alfl 4y ¢iu B, 21 ¥4 GeMad) o1l
5¢ 9

(A) Ul odl

(B} -l a12dl

(©) G [Big o1l

(D) [ Big eadl

djer eteil AT MBIl A3l AL el wie
53

qul (+{l.+1.) wedl

> 1000 M 529 aal By
AL 5181

800-1000 2 asisil, YAHsld,
WSl dall HHetalsnl
$2dis M1

400-800 @ Ayl %fl?.\l‘:a ¢+
Al ALSL ML,
Gz vUsldlE

< 400 (4) 4eALS, Si3, YRd,
oiyu [Feaidl yd
[Azaiz  wxluyal
2531211 WA

58 :

(a) b) ) (d)

(A)  (2) 4 QO @

B & @2 @ (@O

Cy @ @ @2 (1

Dy 3) 1 @ @



58.

69.

The population of Gujarat under
different religious groups in terms

of descending order is :

(A) (1) Hindus, (2) Muslims,

(3) Jains, (4) Christians

(B) (1) Hindus, (2} Christians,

(3) Muslims, (4) Jains

(C) (1) Hindus, (2) Muslims,

(3) Christians, (4) Jains

(D) (1) Muslims, (2) Hindus,

(3) Christians, (4) Jains

The process associated with the
creation of new fronts and the
regeneration of decaying fronts is

known as :

(A) Occlusion

(B) Frontal surface
(C) Frontal zone

(D) Frontogenesis

Geography-II1
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59.

ladl qula-t iz Bddl su -

Ay (1) [arg, (2 ARay,

(3) %, (4) BlRyan

B) () g, (2 BRaax,

(3) 4R, (4) ¥+

©) (1) Reg, (2 yBax,
(3) BBauA, (4) ¥
M (1) yRaw, (20 (8-,

- (3) BBayA, (4) ¥+

Adl ANl AL dAL ALecdd alaisl

s

Yni: Geylnt w18 Aslad w58 &
(A) »liseyRe (Occlusion)

(B) st yulél (Frontal Surface)
(C) Alcidt &

D) an Bl
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60. Study the following statements g0. yedle] 32 Haral 2311 H{lAA Qs
regarding the layering system of e

the earth : . .
@ il Aldq . Hast wd

. h 1 . ——
(i) The layer below the crust is sieyMFrs &HQ-; &

composed of Silica and
@) opie! Qadia-l a3 H-dL 2.9 4l

Aluminium.
4.7 6.

(if) The core has an average

@) ¥ 2 Raud 1zl A 21194
density of 2.9 and 4.7.

6.
(i) NIFE is located below SIAL.

Guz-u [Qautisiedl sul Qe Al & q
State which of the above statements

ALl :
are true ?

A) 4 3
(A) Only G) (A) HIA (7)

(B) (i) and (if) (B) @) &7 @)
(C) (i) and (iii) (C) (D) »i+t (i)
(D) Only (iii) (D) A (i)
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61. Statement I ;

Resource evolves out of the dynamic
interaction of nature, man and

culture.
Statement II :

Culture has the dual function of
enlarging resources and reducing

resistance of nature.

{(A) Both statements I and II are
true and statement II is the

correct explanation to I

(B) Both statements I and II are
true and statement II 1s not the

correct explanation to 1

(C) Statement I is true and

statement II is false

(D)} Statement I is false and

statement II is true

Geography-I11

61. QI :

&8, Hintdl e dzgladdl i B d1d

AUl Geedd .
[Aau- I1

Aulaig QRrdel den gerd-dl asami

galsl W gl 6 sl 8.

(A) ol Qi T il 11 wal § A
[Qeun IT A [Aa I @l angla
37

(B) oid Qe I »d IT 2l 8

[Qatet IT 3 et T L =l weegla

2]

(©€) Rt T A & ¢ @A 1T v

8

D) Rt I wig © »A Qa1 ay

&
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62. Match the following :

Settlement

(1} Dispersed

(2) Linear

(3) Nuclear

Codes :
(1)
(A) (o)
By O
€y (@

D) (@)

Geography-III

(a)

®)

(c)

(2)

(b)

(c)

(b}

(©)

Characteristics

along cross roads

and near centres of

industry

have no central

point

clustered along rail

roads and highways

(3)

(c)

{a)

(@)

(b}
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62. ASsi AS| :

QA&
M el
@ s

@ s (Fuls) ©

s1s

(1}
(A (a)
B) &)
(C) (e}
D (@)

ala (sl

{a}

6)]

(2)

(b)

{c)

(b)

(©)

Wl s v
MIEiBLs Srgl WA
an 516 3w [Gg eld
¢

Jaxel %S aal
il Mol s

3l

(3)
(c)
(a)
(a)

®)



63.

{a)

(b}

(c)

(d)

The Jurassic system of Kutch and

Kathiawar 1s grouped below. Choose

the correct cne :

Series Areas

Umia (1) Dhrangadhra plateau

Katrol (2) Southern ridge of Kutch,
South of Bhuj; consisting
of Chorwad and Karol
Hills

Chari (3) The central range of
Kutch about 192 km long .
from Lakhpat

Pachchham (4) Represented by islands
of Pachchham Khadir,
Bela and Chorar in the
arm of Kutch

Codes :

@ &) (© (@)

A @ @ @GO O

B @ @2 @ @

c @ 3 @ @

o 3 1 @ @
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(a)

®)

()

(d)

12 59 dan suBaiasl 2y Rs el

2 5. dmiell 0l wendl wie $30 ¢

sieflail

By

s19tie,

Yl

%M

5?15 :

- (A)

(B)

©

(D)

(a)

(2)

(4)

(4)

(3)

(D

2

(3)

ue sl
SoLAL G wEn

su9l e[Bw wiz, oyl
gl wgel, AraAs

dell 530 257\l

auudel u3z udl 192

Bafl. alefl eury
BIRHL
(4) 5%l LYl UHIH,
Wl 3 Ka
b © @
4 QO 3
2 3 Q)
3y @ (@
1 @ (2
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64. State which of the following 64. +(A-idl sui [l ALUAL Al
statements related to ‘Sargasso sea’ Asel WAl B 4 oal

are true ? - _ .
@) A s AHialks AR Gelsw 8.

({) Itis an example of Inland sea.
() uye uasiu v aldwa Ra-u

(it) It is a motionless sea formed by .
Al oidal sfalafeq wys

anticyclonic circulation of

8.
ocean currents.
@) GY datudid A esyloanqd
(ir) It records a high salinity

5129 d 37% Fedl &Rl 4l
of 37% because of high

8.
temperature and evaporation.

A . :’{"i . w
(A) (@) and (i) (A) @) (ir)

B) G) and (iii) (B) (@) w- (i)
(©) (i) and (i) (C) (i) ¥ (fir)
D) @), (i) and (iid) @) @), (D) A i)
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65. Which of the following statements g5 opquonypullel diecii A-unis sy Ran

regarding volcanoes is true ?

AR 87

(i) The part connecting the
@ gl w14 yedlu V24 Asdl

volcanic mouth and the intenor

o Fadyuly Adl s 9.
of the earth is known as

Volcanic Pipe. @) vy wsedl Hi2 eudl
(i) Volcanic eruptions are mostly A sl ©.
explosives.

() wnouyela Aser Baui el usin

(iif) Volcanoes can be measured in

(W

Richter scale.
(A) G) A (i)
(A) (i) and (i)

(B) () ¥ (i)
(B) (&) and (iid)

(©) () A (i)
(C) () and Gif)
D) @), (i) and (Gii) | D) ), () - Gi)
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66. Choose the correct choice of 66, -lA-MiYl A%l Al W62 2R

soils of Gujarat by their types and s Wl wauesll 530
characteristics : -
gl usi2 alm® sdiail
Soil Types Characteristics
@ Sl (1) edfl e i
(@) Bhatta (1) Poor Sandy Soils
%) dlRU2 @ el stuauefl ol
&)  Gorat (2) Sandyloam
) OlRUS @) %t sy gl
{¢} Goradu (3} Olderalluvium
@ SuR @) -« sl ¥l
{d) Besar (4) The recent alluvium
4 :
Codes :

@ & @ @@
@ & © @

A B @ @ a
@ @ @ @ O @ @ @ @

(C) @ 1 @ @ (Cy 3 1 @ @
D @ & @ (1 D @ @ @

.
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67.

68.

The Building Blocks of most growth
models are :

() Production function
{it) Savings function

(zti) Labour supply function

State which of the above statements

are true ?

(A) (i) and (i)

(B) (i) and (iii)
(C) () and (iii}

(D) (), i) and (i)

State which of the following
statements reflect the positive effect

of population ?

(i) Migration is age and sex

selective.

(ff) Migration increases global

poverty crisis.

(1if) Migration affects population

composition.
(A) (i) and (if)
(B) (i) and (ii)
(C) (i) and (iii)
(D) (), Gii) and (i)

Geography-II11
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67.

68.

il Hiderll IR ML ¢
@) Gewen sid
(i) oud sid
(1) M sH s

Gy sulda [@areisl] 2l Rl sa
87

(A) () A D)

(B) i) A (@)

() () » (i)

(D) (), (i) ¥ (D)

LAl Rl esiicis 2630 54
Qg sléa a o

@) WAL GYUR 20 2l st 55l
Y D,

(1) whidiw AlRas oSl uesl
qQuLl €.

({d) WAL qularl Howi 21 53

-

9.
(A) () A (@)
B) @) A (i)
(C) (&) A (i)
D) @), @) 2 i)
[P.T.0.]



69.

70.

The short distance out migration in

India has dominance of :

(A) Young Female Population

(B} Young Male Population

(C) Elderly Male Population

(D) Child Population

State to which of the following

countries transverse Himalayas ?

(A) Bhutan, India, Nepal, China

and Pakistan

(B) Bhutan, India, Afghanistan,

China and Pakistan

(C) Bhutan, India, Nepal,

Myanmar and Pakistan

(D) Myanmar, China, India, Nepal

and Bhutan

Geography-II1
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69.

70.

LMl Al su UsiRA, 251 i+l
M 52| All (out migration) o ¥t

Aal wd ¥7?

(A) 4al 2l w=dl

(B) 3t Y™ axdl

(C) d4us Ym gl

(D) o axdl

[Bruau sul suiidl v wd 8§ qQ
oeudl :

(A) ofairt, Shesul, Aw, A dqul

YiZtln

(B) o+, dlrsul, wsuilRdi, A

dgl Wiz

(C) a1, SEsa, AW, w3 da

Wi

(D) 2R, A4, SEsuL, A dul

oel-



71.

72,

The evolution of plants |is

scientifically explained by :
(A) adaptation

(B) climatic ciima.x

(C) plant succession

(D) organic evolution

Which one of the following pairs

does not match correctly ?

(A) P. Haggett : Geography : A

Modern Synthesis

(B) P.E. James : All Possible

Worlds
(C) G.P. Marsh : Explanation in
Geography

(D) Abler, Adams and Gould :

Spatial Organization
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71.

72.

9ls-t (sl dauls wid 200 B -
(A) st — (vggast)

(B) 2uohgaifly 4458

(C) iz AsAun

D) #Mas Gasila

{Aiell s Agl Wl ell?

(A) 1. dde : wuius]l : A s

Al
(B) VL.6. %= : iid Lled qedn

@ @ dl. g : dsAdAyud S

UiALS]

(D) voe, ¥SH i A1ES : Wy

IS P
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73.

74.

Choose the correct order of Asian
cities which possess its high total

level of suspended particulate

matter :
(A) Delhi, Kolkata, dJakarta,
Chongaving

(B) Delhi, Chongaving, Jakarta,
Kolkata

(C) Kolkata, Jakarta, Chongaving,
Delhi

(D) Delhi, Chongaving, Jakarta,
Kolkata

A star symbol in a weather map

represents :

(A) drizzle

(B) rain

(C) showers

(D) snow

Geography-III
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A58 Wlsyde He g6 WL 414dl

AU AL 54 wde 53U

(A) [Bedl, sidsidl, sidl, Aloflal
(B) [Reel, Aiaelat, Asidl, sidsic
(C) slasidl, stal, wadly, [Redl
D) [Reefl, wadla, ﬁsm[, slasiadl

SABlL ML s sl A YU

&

(A) IMR Qe
(B) aul

(€) g

(D) [Byay]



75. The earth’s surface receives
maximum energy at 12 noon but
the maximum temperature never
occurs at 12 noon. State which of

the following are frue ?

(i) Transformation of solar energy

into heat requires sometime.

(it) The loss of energy through
long wave radiation from the
earth’s surface exceeds the
energy received from the sun

at 4 p.m.

(i7i) Energy received by the earth
from solar radiation continues
to exceed the energy lost by
outgoing long wave radiation
from the earth’s surface upto

4 p.m.
(A) (i) and (i)
(B) (i) and (iiz)
(C) (@) and (i)

(D) (@), Gi) and (i)
Geography-III
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75.  yedledl wuidl iRl 12-00 sed HeaH

God HOA € WO MeTM dAlNHIAL SR

siulzel 12-00 setd g™dlg =l

AAAHie sul Rl wal o 7

(&)

(i)

(i)

(A)

(B)

(C)

(D)

ylHI Fsid] G 3uidzel ami

AHY A9 0,

Yeellofl wwidlHiel adl ajen e
@Aled dld yd-dl Gl ol
4-00 setd Ml [AlE2L s3di 4
3

siuizel 4-00 sens yellai yedli-l
Awdlell sz wdl Qe sl
yduidl yedlat Amadl [@fzm G

-

a8 &,
(@) ¥ (i)

(i) AR (dii)
(@) ¥ (i)

(i), @) 2 (iiD)
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ROUGH WORK
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